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Answer either in English or in Assamese

OPTION—A
( For Arts Stream )

( Basic Statistics for Economics )

1. Answer the following questions : 1x7=7
(a) Two lines of regression coincide each
other. What will happen to the degree of
correlation coefficient then?
FoE SRR @4 R [ gIeR =
(ofeR STy BIed TR P 3 9fbq 2
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(2)

(b)) What is weighted arithmetic mean?
©9-gfere AR XYT 2

(c) State the relationship amongst mean,
median and mode of a perfectly
symmetrical frequency distribution.

o RS IRIRel Remew @R 145,
YA SF IZETPS A S=ofF fe |

(d) If Ais any event and P(A) =0, what will
be the nature of the event A?
I A 61 R FICT o1 = P(A) =0 2, To1
AT 23l 2792

() Write one serious limitation of mean
deviation.

o1s fAvea 9Bl QFe AuRFe! & |
() Define Standard Normal Variate (SNV).
SIS SYRe Tored A fean |

(g9 If A and B are mutually exclusive
events, what will be the value of P(AB)?

A S® B [ g 1 2’0, P(AB) 1
T+ 232

2. Answer the following questions : 2x4=8
O 2PPTRY O i
(@) For any two unequal positive numbers
a and b, show that AM xHM = (GM)2.
T R @I SPRA SR KA @ W bI
FRCA (Y1 A AMxHM = (GM)2,
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(b)

(c)

(@)

(3)

Show that E(¢) = ¢, where cis a constant.
4T A E(Q =¢, T© c G5 F3F |

Prove that the square root of the
product of the two regression
coefficients is equal to the value of
correlation coefficient.

ST /1 4 Y01 ARET BT QRFEq 51
STTFE] B TS I 2 |

Comment on the following statement :

For a binomial distribution, mean = 7
and variance = 11.

woq SREOR @oiRe TE fudl :
7 2o 9679 TYF = 7 O PRI = 11.

3. Answer the following questions (any three) :

5x3=15

mem(ﬁ@m%ﬁﬁ):

(@)

Compute mean deviation with the help
of mean from the following data :

©e OU[d R T e 6 {40 S
41 :

Class interval

. 0-10 10-20 20-30 30-40 40-50
c1a faere
Frequency : A2 6 8 5 2
el

22A /567
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(4)

(b) Prove that Karl Pearson’s correlation
coefficient (r) is independent of the

change of origin and scale.

o 4 @ I P T BT ()
T OF TR @G @1 I |

(c) Define mathematical expectation. Find
the mathematical expectation of points

on a die. 2+3=5
s e SRE R | @b pal 8RS
wmsﬂﬁﬁﬁmﬁ‘@aml

(d) Define mutually exclusive events with
example. State the additive law of
probability for two events A and B when
events are mutually exclusive and
non-mutually exclusive. 2+3=5

THRAR (T® 9o IR$© Toa9 gy i |
7! B A WF B-9 A Rer @e-Rik
o, o o1 @ o Rge @ w=
@S o e 7=y |
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(5

(e) Compute the median from the following
data :
woiq O] #d1 T AT T -

Marks No. of Students
i Jaq SR
Below 10 4
10 9F
Below 20 9
20 BLF T
Below 30 18
309F A
Below 40 22
40 9T T
Below 50 26
50 9T
Below 60 28
60 9T T
4. Answer the following questions : 10x3=30
o 2T o f -
(a) Either / &
(i) The arithmetic mean and standard
deviation of 20 numbers are found
to be 10 and 2 respectively. Later
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(6)

on it was discovered that an
additional number 8 was wrongly
included. Find the correct
arithmetic mean and standard

deviation if the additional item is
omitted. 6

2061 RYF SR T4 SF oF 0%
EEE 10 |F 2 (| A | Ave
mi’a@qﬁwi%ﬁ@smww
S 91 CeR | A wfefie SaE @l

2, WA ™I G4 F Wy I [{6a
Sferea |

(i) Write the characteristics of a good
measure of centra] tendency. &

W@‘@aﬁi@?mﬂmwhﬁﬁm
fap 1

Or / 5237

What is dispersion? The runs

scored by two veteran batsmen
Dravid and Tendulkar in

10 innings
are as follows

RO 37 R R o s e
COFTFE 1081 Sfiegs N JEEA
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(7)

(scores) T i 499 -

Dravid Tendulkar

T (oyRH
12 47
115 12
6 76
73 42
{4 4
19 Bl
119 37
36 48
84 13
29 0

Identify the better batsman and the
more consistent batsman. 2+(6+2)=10

e (O @R S S T
oo @f &, fore |

(b) Either / &

What is meant by correlation between

two variables? Write any three
arl Pearson’s correlation

Calculate Pearson’s
correlation coefficient of marks obtained

by five students in Mathematics and
n below : 2+3+5=10

limitations of K
coefficient.

22A /567



(c)

22A/567

(8)

Smel o dve Te@x omdRem S
sfrefR@re wae M ${C9 [ 999 oW

Praavae ST QNS [T 41 :

Marks in Physics Marks in Mathematics

R EECE R
45
20
40
25
45

IR 779

Or / 5241

48
35
17
23
47

Two lines of regression are

YT SR 39T (=R

4x -

20x

5y+30=0

~9y-107 =0

Identify the regression line of Y on X
and regression line of X on Y. Also
calculate the correlation coefficient (ryy)

therefrom.

6+4=10

WR @O XS SfF® Y AP SF
QM YO @RS X3 SueEq @1 =,

fore =11 uF R RR T @
(rxy)qmﬁchW|

Either / 37

() If A and B are two independent
events, prove that A and B are also

( Continued)




(9)

independent events. 4
Ifi A W€ B {5 Foq ool T, &4 ¥
@ A ¢ B o1 7o18 Fog 27 |

() Given PA)=S, PB)=> and
8 8
P(AU B) = %, find P(A/B) and

P(B/A). Also examine whether

events A and B are independent.
3+3=6

@ A=, P(B)=§ o

P(AUB}=% =, (5@ PA/B) I

P(B / A)3 T [fF 91 | 75T A W€ B
5o 51 oG W (7=, AR 90|

Or/ 91

Explain Poisson distribution with
its probability mass function. Give
two practical examples where
Poisson distribution can be used.
Write three important properties of
this distribution. 5+2+3=10

opife % TR STl ©3 ¥ (p.m.f.)
@WWW|Wacﬁﬂwm
@mﬁ?ﬁﬁmm‘ﬂﬁ?ﬁiﬁmﬁm

g ford |

Turmn O
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(10 )

OPTION—DB
( For Science Stream )
( Introduction to Econometrics )

1. Answer the following questions : Lx7=7

oo 2PTIRA Sed fia

(a) What is meant by parameter?
ofoe ferce & gam 2

(b)) What is partial correlation?
S e 2

(c) What is meant by test of significance?
el * Q! ferca i qmm 2

(d) 1f n=25, 62 =25 and X =25, then find
the standard error of Xx.
It n =25, 62 =25 9F X =25, (T x
T @6 AT 41 |

/) In a linear  regression line,
Y; =0 +PBx; +u;. What does u; indicate?
<1 CARF T M y; =00+ B + 14,8 ;4
& o1y 2

() State the condition under which a
binomial distribution tends to normal

distribution.
BEC1 TeEry 91 IR A 91 e 3% o
IBeICE I 2] I |
(g) Define coefficient of determination.
e aensea e fia |
22A/567
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(11)

2. Answer any four of the following questions :
2x4=8

oo fra erprEd R I BiiRoR O e -

(aq) What is meant by an unbiased
estimator? How does bias defined?
oppeeRd SR & T ? srpeffogd SRl
fowea faan =0 ?

(b) Mention the properties of a good point
estimator.

51 Ta R e CafigpR S 991 |

(c) Name the problems that arise in the
estimation of a linear regression model,
when the assumptions of Ew?) = 82 and

E(uiuj) =(Q are violated.

e SR Eu?) =52 9% Ewu;)=0
%aaﬂﬂw&taﬁ@mqwﬁﬂ‘mm

(d) LetXx pe a normal random variable with
mean 10 and standard deviation 4.

Determin€ Pl2<x=s 15y

wa’axaﬁﬁwmwww 10
o W fQoer 4. P(lZSxSlSﬁmﬁﬂfﬂ

34l |
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(12 )

(e) State the conditions for the validity of
x2 test.

x?2 R (34O AT 01 56 Teary 4 |

() Distinguish between type-I and type-II
errors in testing hypothesis.

AT o5 “AFS type-] WF type-II
Fod Ted N foran o

3. Answer any three of the following questions :

5x3=1¢
woq R e fofen epg e fia

(a) Outline the principle of maximum
likelihood method of estimation.

e Y TR SRR o Wit
] |

(b) Obtain the mean and variance of
binomial distribution.

e A5G T =% 2R Sere |
() In the context of hypothesis testing,

briefly explain null hypothesis and
alternative hypothesis.

22A/567 ( Continue
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(13 )

Distinguish between one-tailed test and
two-tailed test.

q-o{ o o f-o oA T A
foram 1

What is Poisson distribution? What are
its properties? 2+3=5

o5 76 1 2 TR GIFERAR fo &2

4. Answer any three of the following questions :

10x3=30

oo 2 i G fofbrm Bew fort -

(a)

(b)

22A /567

In a linear regression model, for what
reasons is the random disturbance term
included? For the model,
y; =a+px; +uy, obtain the mean and
variance of p by the OLS method. 3+7=10

vafie TEET Wi e ke Raif oA
wEge T W? y; =o+fr +u; TR
sSiqed A OLS *F&fe oes I B M4 A<E
o3 fAdre 390 |

Prove that ordinary least squares

estimators are Best Linear Unbiased

Estimators (BLUE).
o 991 @ OLS weae 2 Best Linear
Unbiased Estimators (BLUE) & |

( Turn Over )



(14 )

(c) Explain the concepts of sampling
distribution and standard error of a
statistic. Write down the utility of the
concept of standard error. 6+4=10

91 ARG Ao 357 W gl Fie
R AR TN AWMAS @Y YRAEE
Secfarel fo |

(d) What is Student’s t-distribution? What

are its properties? Discuss the major

applications of Student’s t-distribution.
2+4+4=10

Student’s 3% %2 T RiEPEz & R o

Student’s 9% I35 TR AT
el

(e) Define normal distribution. The income
distribution of workers in a certain
factory was found to follow normal with
mean ¥ 500 and standard deviation
¥ 50. There were 228 workers getting
more than ¥ 600. How many workers
were there in all? [ Given, the area
under the standard normal curve
between 0 and 2 is 0-4772 ] 4+6=10

Waﬁmﬂmﬁmumﬁﬁ%mw
aﬁz:sezm%m?soowzm%ﬁw
¥ 50 | T& FRIMITS 228 & 1z & 600
OF AT AH S I | SRS Resere
mwv[ﬁmw,mﬁ%mmqm
ARSI 0 I 2 7 fowg® 0-4772 |
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(15 )

() A die is thrown 60 times with the
following results :

Face : 1 2 3 4 5 6 Total
Frequency : 6 - 10 8 13 11 12 60

Are the data consistent with hypothesis
that the die is unbiased?

[ Given, x3.0; =15-09for 5 d.f. ]
<51 7o 60 N TSI Fer© TS Feree
ot oS

wReym : 1 2 3 4 5 6 ¥
J9F[el  : 6 10 8 13 11 12 60

AN AR ST e PN 2HCO! S
A ?
[ far g, %301 =15-09 3 FoFOW

4 5= |

* ok X

22A_-—500/567 3 (Sem-9) ECO M 2 (Arts/Sc) (O)



(15 )

(I A die is thrown 60 times with the
following results :

3 4 5 6 Total

Face A 2
13 11 12 &0

Frequency : 6 - 10 8
Are the data consistent with hypothesis
that the die is unbiased?

[ Given, %3.0; =15-09 for 5 d.f. ]
<1 ol 60 I HHNEAN TS TS Felre
LRICE

wRoyw : 1 2 3 4 5 6P
JERe : 6 10 8 13 11 12 60

SN TpfBes! @ioge JH 1 4! L
A ?
[ fa ez, %5.01 =15-09 It FoFoN

T4 5 = |

* Kk
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